                                                         What do I need to have ECC support?

                                                         To support ECC, you must use TRUE (opposed to

                                                         phantom parity generated by TTL chips) 36-bit

                                                         parity-type SIMM (e.g. 8 chips +4 parity chips) in pairs

                                                         for all modules. Mixing 32-bit non-parity SIMM (e.g. 8

                                                         chips) and 36-bit SIMM (e.g. 12 chips) will work, minus

                                                         the ECC feature.

